= 154,00

Skala 1:100/100
PP

PIK: 57,00

= 155,00

P.P.

Skala 1:100/100

PIK: 0,00

. . 007 . . 007
oyeaL.| $6.8G 026G | 067 66651 | 75,65 266Gl | 061
82| cegal- £ 06, O8] yS6GL 06,
[veei| et 61 0009+ 8g8¢] e
Gv'6Gl-| 80'BSL-LGE'6GL | 00D ¥0091-| £9'65L-LG6%BGL | 00D
ol | HOBSL - ol | £965L -
07:68k| Gaga - - AT 66,691 | 5661 - el
07'6Gl-| Sgggl 66t F 95~ 66'6GL-| G661 68651 F (o4
- () -
Lol
= . = % ja) _IML . =
= s |- = s Z 52 |-
= ol o O O = ol o
- = 2] o= - = <
LS E (S Iol= legleEe |8
sS2=59a8 |2 0 e = I =R %] =T
Lo =Ly — e = QO (Lol =L —1
N N OIN [ x O N (N ON ()
ol <l |O a = ol <l |O
. ‘ . 007 . ‘ . 007
01‘o9L | §2.65 0009 | paf copgl | 80.65 FOVESL | Y
0317 S9'64i- - 06 227 80:661 - 6
oi‘osi-| 8988t a1 »S661- 80,88 a1
i‘09l-| 2266100091 |- 00°0 £5°66L-| 0zBSL-LL46GL | 000
war | SL6GH - ol | LL6SL -
0L09%-| &g'6g - - &I £.61-| a(6e - - BE”
0L'091-| &9'6di-86'63l F {84~ €866 go'galev'eal F (8
= —|ia o ; = —|ia
= _ = o) = _
= oE | o iy = SE o
S| Xi— L o2 T o si= 4
= od = ez |2
Lol ~ Lol
23328 |= e ClesiEelE =
N N OIN (=) X O N OZIN ON ()
rojle < |O a = ol <l (O




